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g 37l 787 §7 =iET |
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All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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®H AT WRA SEI G Sl T3 Iiehed 1 o AR og-gara fawa i frel ©h
forrar =1 IR iU |

Highlight any one feature of the multi-polar world as visualised by both

Russia and India.

‘SATaE SUEhT ShieH (Ueh! gtk ANM)’ 1 I Ugwa AT ?

What was the significance of ‘Operation Iraqi Freedom’ ?

Teh IUYH ISR g ST foh Ig stawes T4 8 foh dvefientor dea ashrrcHs
N

Give a suitable example to show that globalisation need not always be

positive.

ST o fafe ot o fou faemma o1 319 STem-sten <=t giar g 2

Why does development have different meanings for different sections of

the people ?

T THER % o= fga1 i diehad o o @au i 71 SI1ar § 2

Why is violence between two communities considered as a threat to

democracy ?

Tefrugrt s Aifd YR & fou st fea wemt 1 gfsd 9 e w8 @2

In which way did the policy of Non-Alignment serve India’s interests ?

1940 & T hl I @ YHIde T3l o1 favamu hifse S giferea@ &

TIATIET o U & fTU Ieerft of | 2x1=2

Analyse the two political developments of 1940s that led to the decision

for the creation of Pakistan.

3 P.T.O.



8. WY AT U MU Al w1, TW B’ H & T8 THBH H WY U il
7Y A’ &Y ‘B’
(a)  sfeu wireht (i) 1952 | TR AT Jog Toh TS 4 &
(b) T AR Al (i) 1975 % STdTaehA | fotiy 1 weften
(¢) T Jeh1RT TR0 (iii) Sfhl T TSI

(d)  SPTSfad ™ (iv) 8% & faeg 394 &g gri & foru faeama

axl-2
2

Match the following meaningfully from the names in Column ‘A’ with the
information in Column ‘B’:

Column ‘A’ Column ‘B’

(a) Indira Gandhi (1) A Member of Parliament from
1952 till his death

(b) Ram Manohar Lohia (i1)) Symbol of opposition during
emergency of 1975

(c) Jai Prakash Narayan (iii) Nationalisation of banks

(d) Jagjiwan Ram (iv) Best known for his sharp attacks
on Nehru

9. qoTe § 9T feafd 98 @ 8§ TSt Ml — dimeara g eidl el dsh 9%

@1 ? 2
How far did the Rajiv Gandhi — Longowal Accord succeed in bringing
normalcy in Punjab ?

10. afe U & W AR % 9 H &5 ol 3R 3fea stfuehr Tl femn o, A
T BN 2 2

What will happen if the regions are not given their due share in
decision-making at the national level ?
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11. <9 g difoaa Aied W snemia Teferasen oM & 18 &I 3evd &1 of ?
=9 I 399 HH-H QI ATH T ? 2+2=4

What was the main objective behind China’s adoption of the Soviet model

of economy ? In which two ways was China benefitted by it ?

12. Y& o 0L U T Wl o €9 § TAhdIE T UM i | 4

Describe terrorism as a new source of threat to security.

13. YRd & AN 9 SRty o fehral =R TohRIcHeh TRUTHT <hl sIedT hifve | 4x1=4

Explain any four negative consequences of globalisation for the people of

India.

14. 1947 ¥ 9Rd & fawsH & frgl ar aformmi & 3SR KT | 4x1=4
Highlight any four consequences of the partition of India in 1947.

15. YR § S 91 1 9Ycd, =T <M T Thal-u1dl Ycad & forg yhr firet o 2
Tyse T | 4

What distinguished the dominance of the Congress Party in India from

the one-party dominance in other countries ? Explain.

16. 1969 ® 1977 % SN, WRd H iy Yurell H g Areehi GRercHi 1 gl
T | 4

Examine the dramatic changes that took place in the party system in
India during 1969 to 1977.
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17.

59/1

o

ffaRad IgTor &1 erMYEs 31ese it qen 38es e fou MU wwat & IW

fafae -

(i)
(i1)

TR el i o STUEThd B <X H WRTIRAT o 1 3TIH-3T9H
S[eE 1 $EETd it fea @ fopam | s <ot o1 v ufagg) <@ %
Raet® e &1 arrer e, sform ot snfdfe A ficht | 37 <ot i
39 TSI SR W BIS off | WENIRA o Agcd H U hi FaEdT |
i g % @ WHI H S I H WA USl 8 W | 4g faueH gee
TEc AT § gaT | ufvedt U9 % IAfeRat < A s w ua forn
STerfer gl AT Hifowd ©@F | IMHA &1 T2 | 39T I ©F gfeemt 31k
“q&fl” TewE Hft FEA @ |

ufgedt qen qoff TeseHl | Heg UH-UH TS 1 A1 fafaw |
BIE-BIC I WERIREAT o TSEYT | =T IS BT =M & 2

(ii) T gl forE YRR fava w1 fawifoa =@ & fou s maq

TS ?

Study the following passage carefully and answer the questions

1+2+42=5
that

follow :

(i1)

The smaller states in the alliances used the link to the
superpowers for their own purposes. They got the promise of
protection, weapons and economic aid against their local rivals,
mostly regional neighbours with whom they had rivalries. The
alliance systems led by the two superpowers, therefore,
threatened to divide the entire world into two camps. This
division happened first in Europe. Most countries of Western
Europe sided with the US and those of Eastern Europe joined
the Soviet camp. That is why, these were also called the
‘western’ and the ‘eastern’ alliances.

Name one organisation each related to the ‘western’ and the
‘eastern’ alliances.

Why were the smaller states interested in joining the super
alliances ?

(iii) How did the ‘alliance system’ threaten to divide the world ?



18.

59/1

frafafea g &1 eamydes regem hifse qen 35 H= fgu T g % I
fafaw

(i)
(i1)

(iii)

UIfhEde T Alhdieh M I — 3ok T I3 @™
A wre T8 fHerdr | 36 a9 9 ot |1 1 ST U HrEH
T o ToTu sgrar e 8 | et qan 1= gfvaH] el 3 3794-319H
el | TR o | uTiheae U Afeh e it seren e | 3 g
I 3T ATAHRAIE H ST AAl & T8 I 29 “Tovdeard] et ATdehdre
Fed & | 37 oE A ff =X marr R f wifeeam % wfuaes
BRI &l 37 TR Rl % B1U T o ¢ | 37 Il & AR
YTfepEd™ I < 9iva| qen <ferr uften § ufveeht f&ai o1 w@aren
HH 2 |

“TorgersaTd} sEaTt 3TTdehaTe @ @ AR B 2
TRt =l AlhdIh ITEH & foTu Ifea Tauisda amea w=i T8
foe 2

qTfeRedT™ o Sfeh wTeH w1 afzam qen <feor uftmn |, afyae e o faatl

T TEATAT A GHLAT ST 9T 2

1+2+2=5

Study the following passage carefully and answer the questions that
follow :

(1)
(ii)

(iii)

The lack of genuine international support for democratic
rule in Pakistan has further encouraged the military to
continue its dominance. The United States and other Western
countries have encouraged the military’s authoritarian rule in
the past, for their own reasons. Given their fear of the threat of
what they call ‘global Islamic terrorism’ and the apprehension
that Pakistan’s nuclear arsenal might fall into the hands of
these terrorist groups, the military regime in Pakistan has been
seen as the protector of Western interests in West Asia and
South Asia.

What is meant by ‘global Islamic terrorism’ ?

Why did Pakistan lack genuine international support for
democratic rule ?

Why was the military regime in Pakistan considered as the
protector of Western interests in West Asia and South Asia ?

7
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19.

59/1

frafafiea g &1 eamydes regem hifse qen 35 = fu T g % I
fafaw

(1)
(ii)

(iii)

S IAIGIeE] % ITEeh FHEL IE olldd &d & T g,

G TR Tefl St STfesh SRSl ¥ TR o hIHhN T U TE
ISAT @ | 3Th AJIR 8 TWE i A ¥ TR i Fur-sishan
SIT BT 8 qAT TS <hl Alhdlieh SFaLT 9T Bidl & | 36 &
1 geflcl Teh 3R T HaTel ol 70 <t 8 37 98 9aTd I8 8 foh 5H
eI UE g arfeeh Al 1 981 #&1 od & ? 86 <l &
5 3 9 AEeH AT TS AT BT ARG SR IW 7 AN
35+ TR o Teh o THE i 3T A1 SIS H oS! JEA hi
2 | g1 I8 39 91d W &I <A1 18T foh 39 S ITeiaHl g Amee
& A dTet ST BTN R 3T ®9 § dfud quT AR RE A
il § wrey Tl R |

I Sere fohd g1 TR s gt TfafafRE w1 e e 2

ATAEh] g TeU T el & 3719 hal dh Hgdd & ?

SH ATEIel B UWT o 9Tel ATk Ty Ao ®9 ¥ dfd dgg €

i 81d & ?

1+2+2=5

Study the following passage carefully and answer the questions that
follow :

(1)

(i1)

(iii)

Critics of popular movements often argue that collective
actions like strikes, sit-ins and rallies disrupt the functioning of
the government, delay decision-making and destabilise the
routines of democracy. Such an argument invites a deeper
question: why do these movements resort to such assertive
forms of action ? We have seen that popular movements have
raised legitimate demands of the people and have involved
large scale participation of citizens. It should be noted that the
groups mobilised by these movements are poor, socially and
economically disadvantaged sections of the society from
marginal social groups.

Popular movements resort to which two types of assertive
actions ?

How far do you agree with the arguments given by the critics ?

Why are groups involved in popular movements mostly from
marginal social groups ?



20. = feu MU SRA H wrAgds TerEE i g I5ek fi= fiu Tyt % 3w
fafew

(i)  GrEsieh & AR st &= & ff= gged a9 W@H W e €8 1 g9reH
qTel Sk i IE=THT, qel 38R AW faRaT |

(i) eI H HIESI-h &3 hl TR IAeeh Fehra FA1 fG@mm T & 2

(iii) ETASIe &7 W 3fYes o9 fau S & SRy, AR Tefeueawar W
ERRIEIEIN 1+2+2=5

59/1 9 P.T.O.
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Study the cartoon given below carefully and answer the questions that

follow :

1) Identify and name the person who is holding the balancing beam
between the public sector and the private sector.

(ii)) Why has a big tilt towards the public sector been shown in the
cartoon ?

(i1i) How did the over-emphasis on public sector adversely affect the

Indian economy ?

10



T :
Note :

21.

59/1

FHETfeTRad Fo7 @acT gieaTiara qaenfern @ g, 97 &1 20 & I T 8 :

The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)

(20.2)

(20.3)
(20.1)

(20.2)

(20.3)

T h1 HH-H-HT Teh IGTeWT hl TRl ¥ Hieseh & 3R Feht

& T 37X Tse HIfT |

YRA §GW I &AM H Wd gU, 39 ThH YR i feferaee i
TrerfHehar ot SR &= 2

JeteRtoT 7 TohE TehT % 3TTffeh &35 <hl wigran fear @ 2 2+2+1=5

Distinguish between the public sector and the private sector

with the help of at least one example each.

Keeping in mind the Indian context, which type of economy

would you prefer and why ?

Globalisation has promoted which type of economic sector ?

e o fdu T ToHifos W@rAmE d e e B @), @), ©, O 3 ®
TR < TR R | A & M8 SR SRl "EEdl 8 38 USHTHU de 3 Tal
I, T hI TS THBR h HH-EEAT qUT rd 18R |fgq, FefeiRaa

qTicTeRT oh ATEAR T IT-gfeaent | foafem :

TN <Rl TS SR

P Graf-od 318/ | & 1 9

(1)

(i1)

(iii)

(iv)

(v)

11 P.T.O.
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() 98 3 Tl 1987 § Hifeaet Mehict W gwame fohu M |

(i) 39 W H HeA B 5 T F IcEeq § FH w hl ygE e
ferenféra a1 2 |

(i) I8 X o EH ATGIeHl o oY foeama 2 |

(iv) Shepfed 9€1 T STME-YE & oi &l g9 & (U, ggann sre-fomeh
3G 36 <9 H =l |

(v) Tova =1 gaifus @i 9a 3cutes o | 5x1=5

In the given political outline map of the World, five countries have been
shown as @), @), ©, © and (E). With the help of the information given
below, identify these countries and write their correct names along with
the serial number of the information used and the related alphabet as per
the following format in your answer-book :

Sr. No. of the Alphabet | Name of the
information used concerned country

(1)

(ii)

(iii)

(iv)

(v)

(1) The county where Montreal Protocol was signed in 1987.

(i1))  This country is of the view that the major responsibility of curbing
gas emissions rests with the developed countries.

(iii)  This country is known for its forest movements.

(iv) The first anti-dam movement aimed to save the Franklin River

and its surrounding forests was launched in this country.

(v)  The largest producer of mineral oil in the world.

12



For question no. 21

I F. 21 % foag

$blkinl} babl

eoniod aTaom

P.T.O.
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Note :

22.

23.

59/1

el Jo7 #acT gieanaa qaemfdEar & g, Jv7 & 21 & €& |
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) o 999 ¥ 9 & Rl g waterefi gei i Seoi@ Hifu |
(21.2) 1992 H gU ‘Yol HHHTH % HaE I T HINT |
(21.3) T WIrehial <t fohegl g1 farmansti &1 3R Hifsr | 1+2+2=5

(21.1) Mention any two environmental concerns that have a long
history.

(21.2) Explain the significance of ‘Earth Summit’ held in 1992.
(21.3) Highlight any two features of the Kyto Protocol.

TI-ITASE 3T Faedn (NIEO) i 9o sl S0 ¢ areit qrfefaai
IAPR AT | 30 TAE W HEAAR 99 A foheal g1 SRenl hl SFTE

T | 4+2=6
YT

Aifead g9 o faged 3 fora dF alienl © foga woHifa =1 gifaa foram 2 s

i | 3x2=6

Highlight the circumstances which gave birth to the idea of New
International Economic Order (NIEO). Explain any two factors that
weakened this initiative.

OR

In what three ways did the collapse of the Soviet Union affect the world
politics ? Explain.

SIANTd qTehd o €9 H I oied oh1 G0 HITT | 6
CC)]
Teh 3Tk TSR & &9 | A hT YfiehT S ehe T | 6
14



24.

25.

59/1

Examine the U.S. hegemony as a structural power.

OR

Assess the role of ASEAN as an economic association.

TIH TS o ©: @ 3TN 1 Ioch@ I 3T 390 & Fhegi a1 & M 1

ol T | 2+4=6
e

ot fomva Ig & wwaTq, TR qun SThishT & Ta Tad gul % HHe T et

&I gra-et A 1 Jui hifg | 6

Mention the six principal organs of the United Nations and describe the

functions of any two of them.

OR

Describe the security challenges faced by the newly independent
countries of Asia and Africa after the Second World War.

FIT AT 30 HYF W TgHA 7 b “Taad wra <t foew Hifq & wnfaget fava &
AOAT T 2 2 310 IR o AN T hig o SUYh doh oIty | 3x2=6

AYAT

“Ura IR S IfshaT 1 Tk Yed qHe AR TE (FEeare) i
Hif 1 R foeht w1 2 1”7 39 HUT % 9 A P dH IUTH dob N | 3x2=6

Do you agree with the statement that “the foreign policy of independent

India has pursued the dream of a peaceful world” ? Support your answer
with any three suitable arguments.

OR

Give any three suitable arguments in favour of “India being a staunch
supporter of the decolonisation process and in firm opposition to

racialism”.

15 P.T.O.



26. 1975 H TN 7T SATITdehId ¥ THgHd o1 foiy o &9 § =feq nfafafm =

IR T | ATYeh! TF |, 37 AR Bl SHHT W =7 9T 987 2 4+2=6
AT

Sfen s faiohe’ = ge 1 fogaivor fifvw | gm0 ge 7 sfeu meht & ame g

TehT <hl FICRIT S <hl 2 2+4=6

Highlight the acts of dissent and resistance to the Emergency imposed in

1975. In your opinion, how did these acts affect the public opinion ?
OR

Analyse the issue ‘Indira vs the Syndicate’. What type of challenges did
the issue pose before Indira Gandhi ?

27. ¥Rd 4 fafauar 4 wewar s W & @ @ & ol 9 TRl w1 9ud

e forent s1eft g foman ST oY B 3x2=6
3t

1989 % YT WRA o SRR ASHITdh Sl H qGd1 g3 HHId hl feheal

&I d1dl 19U ST | 3x2=6

Describe any three areas of tension which are yet to be solved to retain
unity in diversity in India.

OR

Describe any three elements of growing consensus among most of the
political parties of India after 1989.

59/1 16 23,300



